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METHOD 

• Determine breakdown voltage via gain vs. bias 
voltage, extrapolate 

• Gain is 1pe peak minus pedestal

• Operating voltage is breakdown voltage + 0.9V

• Illuminate each cell of MPPC with Y-11 fiber, mean 
wavelength 490 nm

• Normalize to photodiode of known efficiency (0.3 
A/watt, 1.2 electrons/photon@490 nm)



typical distributions from  
station #3 data only, we have the pedestal run and LED 

run for each V bias 

N photons must be determined for each Vbias.

coefficient “a” must be calculated from the pedestal run

Number photoelectrons for LED run is calculated from P0 term from Poisson  
distribution (Np *(1+a))/(N events in LED run) histogram where  Np is number 
events in pedestal peak, with amplitude <Threshold.
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=7.352!
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=4.02 gain=82.48 cross_talk=0.222!
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a=N>Threshold/N<Threshold









Hamamatsu PDE vs. Wavelength, MPPC 130



Hamamatsu PDE measurements


